Problewm 48.16

+|2\)
800,
vesislonce, ohpud “A o 6) 6 /00
fesistpuce , o &WC? bz, %
traasresistace + ‘A

of Th amplitier &
Showvt, Whet is —
ﬂw VO”& $h’i = KF 36;( /fl_ :{ ! i

of This amza/u‘ier jK fx
(Mote! Represest - -
tod K bya Movton eg, cf‘/ca,a‘,)

ﬂn‘s civewit s Shurf‘fﬂS‘;HW{;
Solution

Two-port fym of Civeurt,

o |
| £ iﬁﬁ \ 7 / = _3—61"(
i LN M - ZF
@e@wi«s Deﬁmﬁou;_, = = O
Open-loop civant!
' "
: & Qz
/ ’ /
Assbe ‘lﬂb Ke W Re ey o "o
Ks
| —




Frobleam .16 - Gnk o

. | DL cuwrrents
' L= S00af~ T3z | Zez = Ta + 3600058 107 - 377, Toowd
_ Jooo
I, = 500 A - Ler _ spouA - 37 e 70044
= = Soo. - /13
10 101} fof = 475A-0 éé-gl
I, = 493uf - O366 Zer o I, = 49/ «A

700
Tez= 377%’) t 700A = BER tP —o Lez* 5—3-[91;;; E7344

O Wiy = 10000:025) _ spax s = POLLZS) . pz4k
Al e A ETZ 44

Z 50 _Jjon4ka
45344

oy o
AR D A AR S YAV I y; [

o A-% = ()% 2% ) = [ e k)| 6,+‘G’Tz4[10!)6(sllfplll,’r)]
| £l

= (lo1- &14) (- 54 32) %Z‘é) = - TNk Yy

2y

T ——— T . = = - 345 Ao
1148 j+ 124 20,23

72
&l rily / huo din Ky be less o 167

£y, = lf’iam = %.r; = 375 ST\T ot aqree wifh usig e

" Movan'fg !
VIO [ ) _ S1[Io82 _ 4552 | anq
1748 20,973 £a23

A= Yoz Lo o _3agks _ _z45 v

I K : v

Tho solutions have an evver in them Ao fha caleatfad e

of A, A in Th sohdims s,

= —(IK)36K5.0%K) X Gou x| Yo || (Frz # (146, ) e [ x rrﬂ +(Hg°)&]
A M//( (ms)/z;]/[

¥or t e +(115,)EE

Gom foem ds To bese of G2, 4y, b worved
._r o This isﬂa
. Ny % N'b 3 é 'fajl Ao .farfzf ferm

/8, } e
Ny = A ms.r(—~,"£‘1’;-___, (Hst?-a--—:._(_."_——-—
2] bZ( ) Ve -f({ﬁso_] Ex ) £ /sz_ ¥z f'(/fgu)ff

® 4. A 117,46 K — W46k




